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AQA AS Business Studies

7 Operations management

a Capacity utilisation = current output per time period x 100 ÷ maximum output per time period (2 marks — only award these marks if a calculation is not undertaken.)

Maximum capacity = 18,000 x 100 (1 mark) = 20,000 (1 mark)




     90

Current output = 18,000 + 1 500 (1 mark) = 19,500 (1 mark)

Capacity utilisation = 19,500 x 100 (1 mark) = 95% (1 mark)




  20,000

b Answers may include the following:

· The company has experienced a small rise in the number of faulty products and TQM may help to overcome this.

· The company plans to introduce more technology onto the production line – TQM may help to accommodate this change.

· The company sells hospital equipment and it is important that its products are not faulty – TQM should help to improve its reputation with its customers. 

	Level 5
	Good analysis and good application
	8–9 marks

	Level 4
	Good analysis or good application and reasonable application or reasonable analysis
	6–7 marks

	Level 3
	Good analysis or application or reasonable application and reasonable analysis
	5 marks

	Level 2
	Good knowledge plus reasonable application or reasonable analysis
	3-4 marks

	Level 1
	Answer contains relevant knowledge – basic points and/or evidence of understanding of relevant term(s)
	1–2 marks


c Answers may include the following:

· Yes, it is operating close to full capacity (95% utilisation) and technology may be an effective way to increase its capacity.

· Yes, the company can afford the technology (profits are buoyant) and this will allow it to operate efficiently in what may be a growing market.

· No, the company’s employees (who are highly skilled) have not been consulted and may resent the decision – without their co-operation the introduction could be difficult.

· No, despite profits doubling since 2006, the company’s cash position is weak and training will be essential (in addition to the training required for the introduction of TQM.

	Level 5
	Good analysis and good application
	9–10 marks

	Level 4
	Good analysis or good application and reasonable application or reasonable analysis
	7–8 marks

	Level 3
	Good analysis or application or reasonable application and reasonable analysis
	5–6 marks

	Level 2
	Good knowledge plus reasonable application or reasonable analysis
	3-4 marks

	Level 1
	Answer contains relevant knowledge – basic points and/or evidence of understanding of relevant term(s)
	1–2 marks


Evaluation: this could be along the lines of the decision being right, but the timescale is too short and the method of enactment inappropriate. Alternatively, it is possible to argue that this is a good idea as it may result in more standardised products and could help with quality issues.

	E3
	Judgement with well supported justification. Answer has a logical structure throughout, with effective use of technical terms.
	4–5 marks

	E2
	Judgement with limited attempt at justification. Evidence of a logical structure and some use of technical terms. 
	2–3 marks

	E1
	Assertion or judgement which is unsupported. Reasonable evidence of a logical structure and little use of technical terms. 
	1 mark
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